A note on the number of plane partitions and r-component multipartitions of n

Mircea Cimpoeaş*and Alexandra Teodor

Faculty of Applied Sciences, University Politehnica of Bucharest, Corp BN, Bucharest 060 042, Romania

Received June 21, 2023; accepted November 1, 2023

Abstract. Using elementary methods, we prove new formulas for pp(n), the number of plane partitions of n, $pp_r(n)$, the number of plane partitions of n with at most r rows, $pp^s(n)$, and the number of strict plane partitions of n and $pp^{so}(n)$, the number of symmetric plane partitions of n. We also give new formulas for $P_r(n)$, the number of r-component multipartitions of n.

AMS subject classifications: 11P81, 11P83

Keywords: integer partition, restricted partition function, plane partition, multipartition

1. Introduction

Let *n* be a positive integer. We denote $[n] = \{1, 2, ..., n\}$. A partition of *n* is a non-increasing sequence $\lambda = (\lambda_1, ..., \lambda_m)$ of positive integers such that $|\lambda| = \lambda_1 + \cdots + \lambda_m = n$. We define p(n) as the number of partitions of *n* and for convenience, we define p(0) = 1. This notion has the following generalization: A plane partition of *n* is an array $(n_{ij})_{i,j\in[n]}$ of nonnegative integers such that

$$\sum_{i,j\in[n]} n_{ij} = n \text{ and } n_{ij} \ge n_{i'j'} \text{ for all } i, j, i', j' \in [n] \text{ such that } i \le i' \text{ and } j \le j'.$$

If $n_{ij} > n_{i(j+1)}$ whenever $n_{ij} \neq 0$, then we shall call such a partition *strict*. If $n_{ij} = n_{ji}$ for all *i* and *j*, then the partition is called *symmetric*.

For example, there are 6 plane partitions of n = 3, namely:

$3 \ 0 \ 0$	$2\ 1\ 0$	$2 \ 0 \ 0$	$1\ 1\ 1$	$1 \ 1 \ 0$	$1 \ 0 \ 0$
000,	$0 \ 0 \ 0,$	$1 \ 0 \ 0,$	$0 \ 0 \ 0,$	$1 \ 0 \ 0,$	$1 \ 0 \ 0$
000	$0 \ 0 \ 0$	$0 \ 0 \ 0$	$0 \ 0 \ 0$	$0 \ 0 \ 0$	$1 \ 0 \ 0$

Note that four of them are strict partitions and two of them are symmetric. Moreover, three of them have nonzero entries only on the first row and five of them have nonzero entries on the first two rows.

https://www.mathos.unios.hr/mc

©2024 School of Applied Mathematics and Informatics, University of Osijek

^{*}Corresponding author. *Email addresses:* mircea.cimpoeas@imar.ro (M.Cimpoeaş) alexandra.teodor@upb.ro (A.Teodor)

We denote by pp(n) the total number of plane partitions of n and, define pp(0) = 1. The properties of pp(n) have been extensively studied in literature. As curiosity, we mention that the function pp(n) appears in physics in connection with the enumeration of small black holes in string theory, see [5, Appendix E].

Let $k \ge 1$ be an integer. We denote by $pp_r(n)$ the number of plane partitions with at most r rows, and $pp_k(0) = 1$. Note that $pp_1(n) = p(n)$ for all $n \ge 0$. Also, if $k \ge n$, then $pp_k(n) = pp(n)$. In the example above, we have $pp_1(3) = p(3) = 3$, $pp_2(3) = 5$ and $pp_3(3) = pp(3) = 6$.

We denote by $pp^{s}(n)$ the number of strict plane partitions of n, and by $pp^{so}(n)$ the number of strict plane partitions of n with odd parts. We set $pp^{s}(0) = pp^{so}(n) = 1$. It is well known that $pp^{so}(n)$ also counts the number of symmetric plane partitions of n.

Let $\mathbf{a} := (a_1, a_2, \ldots, a_r)$ be a sequence of positive integers, $r \ge 1$. The restricted partition function associated to \mathbf{a} is $p_{\mathbf{a}} : \mathbb{N} \to \mathbb{N}$, $p_{\mathbf{a}}(n) :=$ the number of integer solutions (x_1, \ldots, x_r) of $\sum_{i=1}^r a_i x_i = n$ with $x_i \ge 0$. Note that the generating function of $p_{\mathbf{a}}(n)$ is

$$\sum_{n=0}^{\infty} p_{\mathbf{a}}(n) z^n = \frac{1}{(1-z^{a_1})\cdots(1-z^{a_r})}, \ |z| < 1.$$
(1)

See [1, Chapter 5] for further details.

Our aim is to provide new formulas for pp(n), $pp_r(n)$, $pp^s(n)$ and $pp^{so}(n)$ using their generating functions and the relation with the restricted partition function $p_{\mathbf{a}}(n)$; see Proposition 1. In Theorem 1, we prove a new formula for pp(n) in terms of binomial coefficients

$$f_{s,\ell} = |\{(j_1, \dots, j_s) : j_1 + \dots + j_s = \ell, \ 0 \le j_i \le \ell \text{ for all } 1 \le i \le s\}| = \binom{s+\ell-1}{\ell}.$$

Similarly, we provide formulas for $pp_r(n)$, $pp^s(n)$ and $pp^{so}(n)$ in Theorem 2, Theorem 3 and Theorem 4, respectively. Furthermore, using a result from [3] regarding the restricted partition function, we deduce other formulas for pp(n), $pp_r(n)$, $pp^s(n)$ and $pp^{so}(n)$; see Theorem 6.

An *r*-component multipartition of *n* is an *r*-tuple $\lambda = (\lambda^1, \ldots, \lambda^r)$ of partitions of *n* such that $|\lambda| = |\lambda^1| + \cdots + |\lambda^r| = n$; see [2]. We denote by $P_r(n)$ the number or *r*-component multipartitions of *n* and $P_r(0) = 1$. In Proposition 3, we show that

$$pp_r(n) = \sum_{\substack{0 \le t_1 \le r-1 \\ \vdots \\ 0 \le t_{r-1} \le 1}} (-1)^{t_1 + \dots + t_{r-1}} P_r(n - t_1 - 2t_2 - \dots - (r-1)t_{r-1}),$$

where $P_r(j) = 0$ for j < 0.

In Theorem 7, we prove a new formula for $P_r(n)$ and deduce from it a new expression for $pp_r(n)$; see Corollary 1. Moreover, in Theorem 8 we obtain other formula for $P_r(n)$.

2. New formulas for the number of plane partitions

- Let $n \ge r$ be two positive integers.
- Let pp(n) be the number of plane partitions of n. We define pp(0) = 1.
- Let $pp_r(n)$ be the number of plane partitions of n with at most r rows. We also define $pp_r(0) = 1$. Note that if $n \leq r$, then $pp(n) = pp_r(n)$.
- Let $pp^{s}(n)$ be the number of strict plane partitions of n. We set $pp^{s}(0) = 1$.
- Let $pp^{so}(n)$ be the number of strict plane partitions of n with odd parts. We set $pp^{so}(n) = 1$. As shown in [6], $pp^{so}(n)$ is equal to the number of symmetric plane partitions of n.

MacMahon [8] proved that

$$\sum_{n=0}^{\infty} \operatorname{pp}(n) z^n = \prod_{n=1}^{\infty} \frac{1}{(1-z^n)^n} \text{ for } |z| < 1.$$
(2)

A refinement of this result is as follows:

$$\sum_{n=0}^{\infty} pp_r(n) z^n = \prod_{n=1}^{\infty} \frac{1}{(1-z^n)^{\min\{n,r\}}} \text{ for } |z| < 1,$$
(3)

see [1, Equation (10.1)].

Gordon and Houten [7] proved that

$$\sum_{n=0}^{\infty} pp^{s}(n) z^{n} = \prod_{n=1}^{\infty} \frac{1}{(1-z^{n})^{\lfloor (n+1)/2 \rfloor}} \text{ for } |z| < 1.$$

Gordon [6] also proved that

$$\sum_{n=0}^{\infty} pp^{so}(n)z^n = \prod_{n=1}^{\infty} \frac{1}{(1-z^{2n+1})} \prod_{n=1}^{\infty} \frac{1}{(1-z^{2n})^n} \text{ for } |z| < 1.$$

Give n, k two positive integers, we denote by $n^{[k]}$ the sequence n, n, \ldots, n of length k, e.g. $2^{[3]} = 2, 2, 2$. We consider the following sequences of integers:

$$\begin{split} \mathbf{n} &:= (1, 2^{[2]}, 3^{[3]}, \dots, n^{[n]}), \\ \mathbf{n}_r &:= (1, 2^{[\min\{2, r\}]}, 3^{[\min\{3, r\}]}, \dots, n^{[\min\{n, r\}]}), \\ \mathbf{n}^s &:= (1, 2^{[1]}, 3^{[2]}, 4^{[2]}, \dots, n^{[\lfloor (n+1)/2 \rfloor]}) \text{ and } \\ \mathbf{n}^{so} &:= (1, 2^{[1]}, 3^{[1]}, 4^{[2]}, \dots, n^{[\lambda(n)]}), \end{split}$$

where $\lambda(n) = \begin{cases} 1, & n \text{ is odd} \\ \frac{n}{2}, & n \text{ is even} \end{cases}$.

Proposition 1. Let $n \ge r$ be two positive integers. We have that:

- (1) $pp(n) = p_n(n)$ for all $n \ge 0$.
- (2) $pp_r(n) = p_{\mathbf{n}_r}(n)$ for all $n \ge 0$.
- (3) $pp^s(n) = p_{\mathbf{n}^s}(n)$ for all $n \ge 0$.
- (4) $pp^{so}(n) = p_{\mathbf{n}^{so}}(n)$ for all $n \ge 0$.

Proof. (1): From equation (1), it follows that

$$\sum_{m=0}^{\infty} p_{\mathbf{n}}(m) z^m = \prod_{j=1}^n \frac{1}{(1-z^j)^j}$$

$$= (1+z+z^2+\cdots)(1+z^2+z^4+\cdots)\cdots(1+z^n+z^{2n}+\cdots).$$
(4)

On the other hand, from equation (2), we have

$$\sum_{m=0}^{\infty} \operatorname{pp}(m) z^m = (1 + z + z^2 + \dots)(1 + z^2 + z^4 + \dots)$$

$$\dots (1 + z^n + z^{2n} + \dots)(1 + z^{n+1} + \dots) \dots .$$
(5)

Comparing (4) and (5), it follows that

$$pp(m) = p_{\mathbf{n}}(m)$$
 for all $0 \le m \le n$,

thus, in particular, $pp(n) = p_n(n)$, as required.

(2, 3, 4): The proof is similar to the proof of (1), so we omit it.

For all $1 \le s \le n$ and $\ell \ge 0$ we consider:

$$f_{s,\ell} = |\{(j_1, \dots, j_s) : j_1 + \dots + j_s = \ell, \text{ where } 0 \le j_i \le \ell \text{ for all } 1 \le i \le s\}|.$$
(6)

Note that $f_{s,\ell}$ is equal to the number of monomials of degree ℓ in s variables, therefore:

$$f_{s,\ell} = \binom{s+\ell-1}{\ell}, \text{ for all } 1 \le s \le n \text{ and } \ell \ge 0.$$
(7)

These binomial coefficients $f_{s,\ell}$ play a central role in the following.

Theorem 1. Let $n \ge 1$ be an integer. We have that

$$pp(n) = \sum_{(\ell_1,\dots,\ell_n)\in\mathbf{A}_n} \prod_{s=2}^n \binom{s+\ell_s-1}{\ell_s},$$

where $\mathbf{A}_n := \{ (\ell_1, \dots, \ell_n) \in \mathbb{N}^n : \ell_1 + 2\ell_2 + \dots + n\ell_n = n \}.$

Proof. From Proposition 1(1) it follows that

$$pp(n) = \#\{(j_1, \dots, j_{\binom{n+1}{2}}) \in \mathbb{N}^{\binom{n+1}{2}} : j_1 + 2j_2 + 2j_3 + \dots + nj_{\binom{n}{2}+1}$$

$$+ \dots + nj_{\binom{n+1}{2}} = n\}.$$
(8)

We denote $\ell_1 = j_1$, $\ell_2 = j_2 + j_3, \dots, \ell_n = j_{\binom{n}{2}+1} + \dots + j_{\binom{n+1}{2}}$. From (6) and (8) it follows that

$$pp(n) = \sum_{(\ell_1,\dots,\ell_n)\in\mathbf{A}_n} \prod_{s=2}^n f_{s,\ell_s}.$$
(9)

Therefore, from (9) and (7) we get the required formula.

Remark 1. Note that $p(n) = #\mathbf{A}_n$ for all $n \ge 1$.

Example 1. If we take n = 3 in Theorem 1, we have $\mathbf{A}_3 = \{(3, 0, 0), (1, 1, 0), (0, 0, 1)\}$ and thus

$$pp(3) = \sum_{(\ell_1, \ell_2, \ell_3) \in \mathbf{A}_3} \prod_{s=2}^3 \binom{\ell_s + s - 1}{\ell_s} = 1 + \binom{1}{1} \binom{2}{1} + \binom{3}{1} = 6.$$

Theorem 2. Let $n > r \ge 2$ be two positive integers. We have that

$$pp_r(n) = \sum_{(\ell_1,\dots,\ell_n) \in \mathbf{A}_n} \prod_{s=2}^n \binom{\ell_s + \min\{s,r\} - 1}{\ell_s}.$$

Proof. From Proposition 1(2) it follows that

$$pp_{r}(n) = \#\{(j_{1}, \dots, j_{rn-\binom{r}{2}}) \in \mathbb{N}^{rn-\binom{r}{2}} : j_{1}+2j_{2}+2j_{3}+\dots+rj_{\binom{r}{2}+1}+\dots+rj_{\binom{r+1}{2}} + \dots + nj_{rn-\binom{r}{2}+1}+\dots+nj_{rn-\binom{r}{2}}=n\}.$$
(10)

We denote $\ell_1 = j_1, \ \ell_2 = j_2 + j_3, \dots, \ell_n = j_{rn - \binom{r+1}{2} + 1} + \dots + j_{rn - \binom{r}{2}}$. From (10) and (6) it follows that:

$$pp_{r}(n) = \sum_{(\ell_{1},...,\ell_{n})\in\mathbf{A}_{n}} \prod_{s=2}^{n} f_{\min\{r,s\},\ell_{s}}$$
(11)

Therefore, from (11) and (7) we get the required formula.

Example 2. Let n = 3 and r = 2. Since $\mathbf{A}_3 = \{(3, 0, 0), (1, 1, 0), (0, 0, 1)\}$, according to Theorem 2, the number of plane partitions of 3 with at most 2 rows is:

$$pp_2(3) = \sum_{(\ell_1, \ell_2, \ell_3) \in \mathbf{A}_3} \prod_{s=2}^3 \binom{\ell_s + 1}{\ell_s} = 1 + \binom{2}{1} + \binom{2}{1} = 5.$$

Theorem 3. Let $n \geq 3$ be an integer. We have that

$$pp^{s}(n) = \sum_{(\ell_1,\dots,\ell_n)\in\mathbf{A}_n} \prod_{s=3}^n \binom{\ell_s + \lfloor \frac{s+1}{2} \rfloor - 1}{\ell_s}.$$

Proof. Assume n = 2p. From Proposition 1(3) it follows that

$$pp^{s}(n) = \#\{(j_{1}, \dots, j_{p^{2}+p}): j_{1}+2j_{2}+3j_{3}+3j_{4}+\dots+nj_{p^{2}+1}+\dots+nj_{p^{2}+p}=n\} (12)$$

We denote $\ell_1 = j_1$, $\ell_2 = j_2$, $\ell_3 = j_3 + j_4, \dots, \ell_n = j_{p^2+1} + \dots + j_{p^2+p}$. From (12) and (6) it follows that

$$pp^{s}(n) = \sum_{(\ell_1,\dots,\ell_n)\in\mathbf{A}_n} \prod_{s=3}^n f_{\lfloor\frac{s+1}{2}\rfloor,\ell_s}$$
(13)

Therefore, from (13) and (7) we get the required formula. The case n = 2p + 1 is similar.

Example 3. Let n = 3. Since $\mathbf{A}_3 = \{(3,0,0), (1,1,0), (0,0,1)\}$, according to Theorem 3, the number of strict plane partitions of 3 is:

$$pp^{s}(3) = \sum_{(\ell_{1},\ell_{2},\ell_{3})\in\mathbf{A}_{3}} {\binom{\ell_{3}+1}{\ell_{3}}} = 1 + 1 + {\binom{2}{1}} = 4.$$

Theorem 4. Let $n \ge 3$ be a positive integer. We have that

$$pp^{so}(n) = \sum_{(\ell_1, \dots, \ell_n) \in \mathbf{A}_n} \prod_{s=2}^{\lfloor \frac{n}{2} \rfloor} \binom{\ell_s + s - 1}{\ell_s}.$$

Proof. Assume n = 2p. From Proposition 1(4) it follows that

$$pp^{s}(n) = \#\{(j_{1}, \dots, j_{p^{2}+p}) : j_{1} + 2j_{2} + 3j_{3} + 4j_{4} + 4j_{5} + 5j_{6} + \dots + (n-1)j_{\binom{p}{2}} + nj_{\binom{p}{2}+1} + \dots + nj_{\binom{p+1}{2}} = n\}.$$

We denote $\ell_1 = j_1$, $\ell_2 = j_2$, $\ell_3 = j_3, \ldots, \ \ell_{n-1} = j_{\binom{p}{2}}, \ \ell_n = j_{\binom{p}{2}+1} + \cdots + j_{\binom{p+1}{2}}$. From (12) and (6) it follows that

$$pp^{s}(n) = \sum_{(\ell_{1},...,\ell_{n}) \in \mathbf{A}_{n}} \prod_{s=2}^{\lfloor \frac{n}{2} \rfloor} f_{s,\ell_{2s}}$$
(14)

Therefore, from (14) and (7) we get the required formula. The case n = 2p + 1 is similar.

Example 4. Let n = 3. Since $\mathbf{A}_3 = \{(3,0,0), (1,1,0), (0,0,1)\}$ and $\lfloor \frac{3}{2} \rfloor = 1$, according to Theorem 4, the number of symmetric plane partition of 3 is:

$$pp^{so}(3) = p(3) = #\mathbf{A}_3 = 3$$

The unsigned Stirling numbers $\begin{bmatrix} r \\ k \end{bmatrix}$'s are defined by

$$\binom{n+r-1}{r-1} = \frac{1}{n(r-1)!} n^{(r)} = \frac{1}{(r-1)!} \left(\binom{r}{r} n^{r-1} + \dots \binom{r}{2} n + \binom{r}{1} \right).$$

We recall the following result:

A note on the number of plane partitions and r-component multipartitions of n 111

Theorem 5 (see [3, Theorem 2.8(2)] and [4]). Let $\mathbf{a} = (a_1, \ldots, a_r)$ be a sequence of positive integers and let D be the least common multiple of a_1, \ldots, a_r . We have that

$$p_{\mathbf{a}}(n) = \frac{1}{(r-1)!} \sum_{m=0}^{r-1} \sum_{\substack{0 \le j_1 \le \frac{D}{a_1} - 1, \dots, 0 \le j_r \le \frac{D}{a_r} - 1 \\ a_1j_1 + \dots + a_rj_r \equiv n \pmod{D}}} \sum_{k=m}^{r-1} {r \\ k+1} \\ \times (-1)^{k-m} {k \choose m} D^{-k} (a_1j_1 + \dots + a_rj_r)^{k-m} n^m.$$

Theorem 6.

(1) For $n \ge 1$ we have

$$pp(n) = \frac{1}{\left(\binom{n+1}{2} - 1\right)!} \sum_{m=0}^{\binom{n+1}{2} - 1} \sum_{\substack{0 \le \ell_1 \le D_n - 1, \dots, 0 \le \ell_n \le D_n - n \\ \ell_1 + 2\ell_2 + \dots + n\ell_n \equiv n \pmod{D_n}}} \prod_{s=2}^n \binom{\ell_s + s - 1}{\ell_s} \times \sum_{k=m}^{\binom{n+1}{2} - 1} \left[\binom{n+1}{2} + 1\right] (-1)^{k-m} \binom{k}{m} D_n^{-k} (\ell_1 + 2\ell_2 + \dots + n\ell_n)^{k-m} n^m,$$

where D_n is the least common multiple of $1, 2, \ldots, n$.

(2) For $n \ge 3$ and $2 \le r \le n-1$ we have

$$pp_{r}(n) = \frac{1}{(nr - \binom{r}{2} - 1)!} \sum_{m=0}^{nr - \binom{r}{2} - 1} \sum_{\substack{0 \le \ell_{1} \le D_{n} - \min\{1, r\}, \\ 0 \le \ell_{n} \le D_{n} - \min\{n, r\} \\ \ell_{1} + 2\ell_{2} + \dots + n\ell_{n} \equiv n \pmod{D_{n}}} \prod_{s=2}^{n} \binom{\ell_{s} + \min\{s, r\} - 1}{\ell_{s}} \times \sum_{k=m}^{nr - \binom{r}{2} - 1} \binom{nr - \binom{r}{2}}{k+1} (-1)^{k-m} \binom{k}{m} D_{n}^{-k} (\ell_{1} + 2\ell_{2} + \dots + n\ell_{n})^{k-m} n^{m}.$$

(3) For $n \ge 1$ we have

$$pp^{s}(n) = \frac{1}{\left(\left\lfloor\frac{n+1}{2}\right\rfloor \cdot \left\lfloor\frac{n+2}{2}\right\rfloor - 1\right)!} \sum_{m=0}^{\left\lfloor\frac{n+1}{2}\right\rfloor \cdot \left\lfloor\frac{n+2}{2}\right\rfloor - 1} \sum_{\substack{0 \le \ell_{1} \le D_{n} - 1, \\ \dots, \\ 0 \le \ell_{n} \le D_{n} - \left\lfloor\frac{n+1}{2}\right\rfloor \\ \ell_{1} + 2\ell_{2} + \dots + n\ell_{n} \equiv n \pmod{D_{n}}} x + \frac{\left\lfloor\frac{n+1}{2}\right\rfloor \cdot \left\lfloor\frac{n+2}{2}\right\rfloor - 1}{\sum_{k=m}^{l} \left\lfloor\left\lfloor\frac{n+1}{2}\right\rfloor \cdot \left\lfloor\frac{n+2}{2}\right\rfloor} \left\lfloor(-1)^{k-m} \\ \times \binom{k}{m} D_{n}^{-k} (\ell_{1} + 2\ell_{2} + \dots + n\ell_{n})^{k-m} n^{m}.$$

(4) For $n \ge 1$ we have

$$\begin{split} \mathrm{pp}^{so}(n) = & \frac{1}{\left(\left(\lfloor\frac{n}{2}\rfloor\right) + \varepsilon(n) - 1\right)!} \\ & \times \sum_{m=0}^{\left(\lfloor\frac{n}{2}\rfloor\right) + \varepsilon(n) - 1} \sum_{\substack{0 \le \ell_1 \le D_n - \lambda(1), \dots, 0 \le \ell_n \le D_n - \lambda(n) \\ \ell_1 + 2\ell_2 + \dots + n\ell_n \equiv n \pmod{D_n}}} \prod_{s=2}^{\lfloor\frac{n}{2}\rfloor} \begin{pmatrix} \ell_s + s - 1 \\ \ell_s \end{pmatrix} \\ & \times \sum_{k=m}^{\left(\lfloor\frac{n}{2}\rfloor\right) + \varepsilon(n) - 1} \left[\begin{pmatrix}\lfloor\frac{n}{2}\rfloor\right) + \varepsilon(n) \\ k + 1 \end{bmatrix} (-1)^{k-m} \\ & \times \begin{pmatrix} k \\ m \end{pmatrix} D_n^{-k} (\ell_1 + 2\ell_2 + \dots + n\ell_n)^{k-m} n^m, \end{split}$$
where $\lambda(n) = \begin{cases} 1, & n \text{ is odd} \\ \frac{n}{2}, & n \text{ is even} \end{cases}$ and $\varepsilon(n) = \begin{cases} 1, & n \text{ is odd} \\ 0, & n \text{ is even} \end{cases}$.

Proof. (1): Note that the length of the sequence $\mathbf{n} = (1, 2^{[2]}, \dots, n^{[n]})$ is $\binom{n+1}{2}$. From Proposition 1(1) and Theorem 5 it follows that

$$pp(n) = p_{\mathbf{n}}(n) = \frac{1}{\left(\binom{n+1}{2} - 1\right)!} \sum_{m=0}^{\binom{n+1}{2} - 1} \sum_{(j_1, \dots, j_{\binom{n+1}{2}}) \in \mathbf{C}_n} \sum_{k=m}^{\binom{n+1}{2} - 1} \begin{bmatrix} \binom{n+1}{2} \\ k+1 \end{bmatrix}$$
$$\times (-1)^{k-m} \binom{k}{m} D_n^{-k} (j_1 + 2j_2 + 2j_3 + \dots + nj_{\binom{n}{2} + 1} + \dots + nj_{\binom{n+1}{2}})^{k-m} n^m, (15)$$

where

$$\mathbf{C}_{n} = \{(j_{1}, \dots, j_{\binom{n+1}{2}}) : 0 \le j_{1} \le D_{n} - 1, 0 \le j_{2} \le \frac{D_{n}}{2} - 1, 0 \le j_{3} \le \frac{D_{n}}{2} - 1, \dots, 0 \le j_{\binom{n}{2}+1} \le \frac{D_{n}}{n} - 1, \dots, 0 \le j_{\binom{n+1}{2}} \le \frac{D_{n}}{n} - 1 \text{ such that}$$
$$j_{1} + 2j_{2} + 2j_{3} + \dots + nj_{\binom{n}{2}+1} + \dots + nj_{\binom{n+1}{2}} \equiv n \pmod{D_{n}}\}.$$

We let $\ell_1 = j_1, \ \ell_2 = j_2 + j_3, \ \dots, \ell_n = j_{\binom{n}{2}+1} + \dots + j_{\binom{n+1}{2}}.$ Note that if $(j_1, j_2, \dots, j_{\binom{n+1}{2}}) \in \mathbf{C}_n$, then $0 \le \ell_t \le D_n - t$ for all $1 \le t \le n$, and moreover, $\ell_1 + 2\ell_2 + \cdots + n\ell_n \equiv n \pmod{D_n}$. From (15), using a similar argument as in the proof of Theorem 1, we get the required result.

(2): Note that the length of the sequence $\mathbf{n}_r := (1, 2^{[\min\{2,r\}]}, 3^{[\min\{3,r\}]}, \ldots,$ $n^{\min\{n,r\}}$ is $\binom{r+1}{2} + r(n-r) = nr - \binom{r}{2}$. The rest of the proof is similar to the proof of (1), using Proposition 1(2), Theorem 2 and Theorem 5.

(3): Note that the length of the sequence $\mathbf{n}^s := (1, 2^{[1]}, 3^{[2]}, 4^{[2]}, \dots, n^{[\lfloor (n+1)/2 \rfloor]})$ is $p^2 + p$ if n = 2p, and $(p+1)^2$ if n = 2p+1. Hence, in both cases, the length is $\lfloor \frac{n+1}{2} \rfloor$. $\left\lfloor \frac{n+2}{2} \right\rfloor$. The rest of the proof is similar to the proof of (1), using Proposition 1(3), Theorem 3 and Theorem 5.

A note on the number of plane partitions and r-component multipartitions of n 113

(4): Note that the length of the sequence $\mathbf{n}^{so} := (1, 2^{[1]}, 3^{[1]}, 4^{[2]}, \dots, n^{[\lambda(n)]})$ is $\binom{p}{2}$ if n = 2p, and $\binom{p}{2} + 1$ if n = 2p + 1. Hence, in both cases, the length is $\binom{\lfloor \frac{n}{2} \rfloor}{2} + \varepsilon(n)$. The rest of the proof is similar to the proof of (1), using Proposition 1(4), Theorem 4 and Theorem 5.

3. New formulas for the number of multipartitions with *r* components

If we denote by $P_r(n)$ the number of r-component multipartitions of n, we have that

$$\sum_{n=0}^{\infty} P_r(n) z^n = \prod_{n=1}^{\infty} \frac{1}{(1-z^n)^r},$$
(16)

where $P_r(0) = 0$ by convention; see [2]. We consider the sequence

$$\mathbf{n}^r = (1^{[r]}, 2^{[r]}, \dots, n^{[r]}).$$

Proposition 2. With the above notations, we have $P_r(n) = p_{\mathbf{n}^r}(n)$ for all $n \ge 0$.

Proof. It follows from (1) and (16), using a similar argument as in the proof of Proposition 1(1).

Theorem 7. Let $n \ge 4$ and $r \ge 2$ be two positive integers such that n > r. We have that

$$P_r(n) = \sum_{(\ell_1,\dots,\ell_n) \in \mathbf{A}_n} \prod_{s=1}^n \binom{\ell_s + r - 1}{\ell_s}.$$

Proof. From Proposition 2 it follows that

$$P_{r}(n) = \#\{(j_{1}, \dots, j_{nr}) : j_{1} + \dots + j_{r} + 2j_{r+1} + \dots + 2j_{2r} + \dots + nj_{nr-r+1} + \dots + nj_{nr} = n\}$$
(17)

We denote $\ell_1 = j_1 + \cdots + j_r$, $\ell_2 = j_{r+1} + \cdots + j_{2r}, \dots, \ell_n = j_{nr-r+1} + \cdots + j_{nr}$. From (17) and (6) it follows that

$$P_{r}(n) = \sum_{(\ell_{1},\dots,\ell_{n})\in\mathbf{A}_{n}} \prod_{s=1}^{n} f_{r,\ell_{s}}$$
(18)

Therefore, from (18) and (7) we get the required formula.

Example 5. Let n = 4 and r = 2. Since $\mathbf{A}_4 = \{(4, 0, 0, 0), (2, 1, 0, 0), (1, 0, 1, 0), (0, 2, 0, 0), (0, 0, 0, 1)\}$ and $f_{2,\ell} = \ell + 1$ for $0 \le \ell \le 4$, from Theorem 7 we have that

$$P_2(4) = 5 + 3 \cdot 2 + 2 \cdot 2 + 3 + 2 = 20.$$

Let $pp_r(n)$ be the number of plane partitions of n with at most r rows. From (3) and (16) it follows that

$$\sum_{n=0}^{\infty} \operatorname{pp}_{r}(n) z^{n} = \prod_{j=1}^{r-1} (1-z^{j})^{r-j} \sum_{n=0}^{\infty} P_{r}(n) z^{n}$$
$$= \sum_{\substack{0 \le t_{1} \le r-1 \\ 0 \le t_{2} \le r-2 \\ 0 \le t_{r-1} \le 1}} (-1)^{t_{1}+\dots+t_{r-1}} \sum_{n=0}^{\infty} P_{r}(n-t_{1}-2t_{2}-\dots-(r-1)t_{r-1}) z^{n}, (19)$$

where $P_r(j) = 0$ for j < 0. As a direct consequence of (19), we get the following result:

Proposition 3. For all $n \ge 0$ we have that

$$pp_r(n) = \sum_{\substack{0 \le t_1 \le r-1 \\ \vdots \\ 0 \le t_{r-1} \le 1}} (-1)^{t_1 + \dots + t_{r-1}} P_r(n - t_1 - 2t_2 - \dots - (r-1)t_{r-1}).$$

As a consequence of Proposition 3 and Theorem 7, we get:

Corollary 1. For all $n \ge 4$ and $n > r \ge 2$, we have that

$$pp_{r}(n) = \sum_{\substack{0 \le t_{1} \le r-1 \\ 0 \le t_{1} \le r-1 \\ n < 4+t_{1} + 2t_{2} + \dots + (r-1)t_{r-1} \\ + \sum_{\substack{0 \le t_{1} \le r-1 \\ 0 \le t_{1} \le r-1 \\ 0 \le t_{r-1} \le 1 \\ n \ge 4+t_{1} + 2t_{2} + \dots + (r-1)t_{r-1} \\ = \sum_{\substack{0 \le t_{1} \le r-1 \\ 0 \le t_{r-1} \le 1 \\ n \ge 4+t_{1} + 2t_{2} + \dots + (r-1)t_{r-1} \\ \end{pmatrix}} \prod_{\substack{\ell = 1 \\ \ell_{s} \\ \ell_{s}}}^{n} \binom{\ell_{s} + r - 1}{\ell_{s}}.$$

Theorem 8. Let $n \ge 4$ and $r \ge 2$ be two positive integers such that $n \ge r$. We have that

$$P_{r}(n) = \frac{1}{(nr-1)!} \sum_{m=0}^{nr-1} \sum_{\substack{0 \le \ell_{1} \le D_{n}-1, \dots, 0 \le \ell_{n} \le D_{n}-n \\ \ell_{1}+2\ell_{2}+\dots+n\ell_{n} \equiv n \pmod{D_{n}}}} \prod_{s=1}^{n} \binom{\ell_{s}+r-1}{\ell_{s}} \\ \times \sum_{k=m}^{nr-1} \binom{nr}{k+1} (-1)^{k-m} \binom{k}{m} D_{n}^{-k} (\ell_{1}+2\ell_{2}+\dots+n\ell_{n})^{k-m} n^{m}.$$

Proof. From Proposition 2 and Theorem 5 it follows that

$$P_{r}(n) = \frac{1}{(nr-1)!} \sum_{m=0}^{nr-1} \sum_{\substack{0 \le j_{1} \le D_{n}-1, \dots, 0 \le j_{r} \le D-1 \\ \vdots \\ 0 \le j_{nr-r+1} \le \frac{D_{n}}{n} - 1, \dots, 0 \le j_{nr} \le \frac{D_{n}}{n} - 1 \\ j_{1}+\dots+j_{r}+\dots+nj_{nr-r+1}+\dots+nj_{nr} \equiv n \pmod{D_{n}} \\ \times \binom{k}{m} D_{n}^{-k} (j_{1}+\dots+j_{r}+\dots+nj_{rn-r+1}+\dots+nj_{rn})^{k-m} n^{m}.$$
(20)

We let $\ell_1 = j_1 + \cdots + j_r, \ldots, \ell_n = j_{nr-r+1} + \cdots + j_{rn}$. It is easy to see that $0 \leq \ell_t \leq D_n - t$ for $1 \leq t \leq n$. Therefore, from (20), using a similar argument as in the proof of Theorem 7, there follows the required formula.

References

- G. E. ANDREWS, K. ERIKSSON, Integer Partitions, Cambridge University Press, Cambridge, 2004.
- [2] G. E. ANDREWS, A Survey of Multipartitions Congruences and Identities, In: Surveys in Number Theory. Developments in Mathematics (Diophantine Approximation: Festschrift for Wolfgang Schmidt), Springer, New York, 2008.
- [3] M. CIMPOEAŞ, F. NICOLAE, On the restricted partition function, Ramanujan J. 47(2018), 565–588.
- M. CIMPOEAŞ, F. NICOLAE, Corrigendum to "On the restricted partition function", Ramanujan J. 49(2019), 699–700.
- [5] A. DABHOLKAR, F. DENEF, G. W. MOORE, B. PIOLINE, Precision counting of small black holes, J. High Energy Phys. 10(2005), 89 pp.
- [6] B. GORDON, Notes on plane partitions V, J. Comb. Theory Ser. A. 11(1971), 157–168.
- [7] B. GORDON, L. HOUTEN, Notes on plane partitions, J. Comb. Theory Ser. A. 4(1968), 72–99.
- [8] P. A. MACMAHON, Collected papers, The M. I. T. Press, Cambridge, 1978.